Lecture 13:

Recall:

Theorem: Let T be a linear operator on a finite dimensional vector space V such that the characteristic polynomial splits. Let $\lambda_1, \lambda_2, \ldots, \lambda_k$ be distinct eigenvalues of T. Then: (a) T is diagonalizable iff: $\mathcal{U}_{\tau}(\lambda_i) = \mathcal{Y}_{\tau}(\lambda_i)$ for i=1,2,...,k(b) If T is diagonalizable and Bi is an ordered basis for Exi for each i, then = B:= BIUBZU...UBK is an ordered basis for V consisting of eigenvectors. (so that [T] is a diagonal matrix)

Proof: Write
$$n = \dim(V)$$
, and $m_i = M_T(\lambda_i)$ and $d_i = \Im_T(\lambda_i)$
for all i. dim (E_{λ_i})
Suppose T is diagonalizable and β is a basis for V consisting
of eigenvectors of T.
(e.g. $\beta = \{v_1, v_2, v_3, v_4, v_5, \dots, v_n\}$)
For each i, let $\beta_i = \beta \cap E_{\lambda_i}$ and $n_i = \#\beta_i$
Then: $n_i \le d_i = \dim(E_{\lambda_i})$ (": β_i is lin. independent)
Also, $d_i \le m_i$
So, we have $n_i \le d_i \le m_i$ for all i.

 $n = \sum_{i=1}^{k} n_i \leq \sum_{i=1}^{k} d_i \leq \sum_{i=1}^{k} m_i = n = dim(v)$ $\sum_{i=1}^{k} d_{i} - \sum_{i=1}^{k} n_{i} = 0 \iff \sum_{i=1}^{k} (d_{i} - n_{i}) = 0$ 2 di=ni for all i. \Rightarrow $\sum_{i=1}^{k} m_i - \sum_{i=1}^{k} d_i = 0 \iff \sum_{i=1}^{k} (m_i - d_i) = 0$ dim(Exi) \Rightarrow di = mi for all i. ini = di = mi for all i (So, Bi is a basis of Eai)

Conversely, suppose
$$m_i = di \ \forall i$$
.
For each i, let β_i be the ordered basis of E_{λ_i}
and let $\beta = \beta_i \cup \beta_2 \cup \dots \cup \beta_k$.
Then: from previous proposition, we know β is linearly
independent.
But $\#\beta = \sum_{i=1}^{k} d_i = \sum_{i=1}^{k} m_i = n = dim(V)$
 $(\beta_i|+|\beta_i|+\dots+|\beta_k|)$
 $dim(E_{\lambda_i})$ $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_i})$
 $dim(E_{\lambda_$

$$\begin{split} \overline{\mathsf{Example}} & \text{Let } T: \mathbb{P}_{2}(\mathbb{IR}) \rightarrow \mathbb{P}_{2}(\mathbb{IR}) \text{ be defined by :} \\ T[f(x)] &= f(x) + (x+1) f'(x) \\ Then: \quad A := [T]_{\beta} = \begin{pmatrix} 1 & 1 & 0 \\ 0 & 2 & 2 \\ 0 & 0 & 3 \end{pmatrix} \\ \text{where } \beta &= \{1, x, x^{2}\} = \text{Standard ordered basis for } \mathbb{P}_{2}(\mathbb{IR}). \\ \text{where } \beta &= \{1, x, x^{2}\} = \text{Standard ordered basis for } \mathbb{P}_{2}(\mathbb{IR}). \\ \text{where } \beta &= \{1, x, x^{2}\} = def\left(\begin{pmatrix} 1-t & (& 0 \\ 0 & 2-t & 2 \\ 0 & 0 & 3-t \end{pmatrix}\right) = (1-t)^{1}(2-t)^{1}(3-t)^{4} \\ \text{det}(A - t I_{s}) &= def\left(\begin{pmatrix} 1-t & (& 0 \\ 0 & 2-t & 2 \\ 0 & 0 & 3-t \end{pmatrix}\right) = (1-t)^{1}(2-t)^{4}(3-t)^{4} \\ 1 &\leq \sqrt[3]{T}(1) \leq M_{T}(1) = 1 \\ (\leq \sqrt[3]{T}(2) \leq M_{T}(2) = 1 \\ (\leq \sqrt[3]{T}(2) \leq M_{T}(2) = 1 \\ \sqrt[3]{T}(2) = M_{T}(2) \\ (\leq \sqrt[3]{T}(3) = 1 \end{bmatrix} \quad \mathcal{Y}_{T}(3) = M_{T}(3) \\ \end{array}$$

$$M(A - 1T_3) = N\begin{pmatrix} 0 & 1 & 0 \\ 0 & 1 & 2 \\ 0 & 0 & 2 \end{pmatrix} = \{a \begin{pmatrix} 1 \\ 0 \end{pmatrix} : a \in IR \}$$

$$\Rightarrow E_1 = N(T - 1T_v) = \{a_1 : a \in IR \} \subseteq P_2(IR)$$
Similarly, $N(A - 2T_3) = N\begin{pmatrix} -1 & 1 & 0 \\ 0 & 0 & 2 \end{pmatrix} = \{a \begin{pmatrix} 1 \\ 0 \end{pmatrix} : a \in IR \}$

$$E_2 = \{a(1+x) : a \in IR \} \subset P_2(IR)$$

$$E_3 = \{a(1+x) : a \in IR \} \subset P_2(IR)$$

$$R^3 \xrightarrow{[T]_B} IR^3$$

$$\beta = \{1, 1+x, (1+x)^2\} \text{ is a basis}$$
of eigenvectors for V.
$$P_2(IR) \xrightarrow{T} P_2(IR)$$

-

Example: For
$$A = \begin{pmatrix} 3 & 1 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 4 \end{pmatrix} \in M_{3x3}(IR)$$

 $F_A(t) = -(t-4)(t-3)^2$ splits over IR .
 $\forall T(4) = M_T(4) = 1$
But rank $(A - 3I) = rank \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} = 2$
 $(Rank(B) + Nullity(B) = 3)$
 2
 1
 $\forall_A(3) = 1 \neq M_A(3) = 2$
 T is not diagonalizable.

1

-

Example: Consider T:
$$\mathcal{P}_{2}(\mathbb{R}) \rightarrow \mathcal{P}_{2}(\mathbb{R})$$
 defined by:
T(f(x)) = f(1) + f'(0) X + (f'(0) + f''(0)) X²
Let $\beta = \hat{\Sigma}(1, X, X^{2})$.
 $[T]_{\beta} = \begin{pmatrix} 1 & 1 & 1 \\ 0 & 1 & 2 \end{pmatrix} \Rightarrow f_{T}(t) = -(t - 1)^{2}(t - 2)$
 $Splits over IR.$
and the eigenvalues of T are 1 and Z.
 $\therefore \quad \vartheta_{T}(2) = \mathcal{M}_{T}(2) = 1$.
Rank $([T]_{\beta} - I] = \operatorname{rank} \begin{pmatrix} 0 & 1 & 1 \\ 0 & 1 & 1 \end{pmatrix} = 1 \Rightarrow \vartheta_{T}(1) = 2 = \mathcal{M}_{T}(1)$
 $\therefore T \text{ is diagonalizable}.$

1

. .

1

.

For
$$[T]_{p}$$
, the eigenspaces:
 $E_{1} = \left\{ \begin{pmatrix} X_{1} \\ X_{2} \\ X_{3} \end{pmatrix} \in IR^{3} : X_{2} + X_{3} = o \right\} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ -1 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{span} \left\{ \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$
 $E_{2} = \operatorname{s$

Definition: Let T be a linear operator on a vector space v. A subspace WCV is called T-invariant if T(W) = W. That is, T(w) EW for YWEW. Example: If T is a linear operator on V, then: 20) is T-invariant Vis vi (w̃ ∈ RCT), then: T(T(ṽ)) Ť(ṽ) ⁽FRT) R(T) v v V NUT) U $(\vec{v} \in E_A, T(\vec{v}) = \lambda \vec{v} \in E_A)$ Ez U V eigenvalue

• For
$$T: |R^3 \rightarrow |R^3$$
 defined by $T(a,b,c) = (a+b, b+c, o)$
then x-y plane $\{(x,y,o) : x,y \in |R\}$ is T-invariant
 $x-axis$ $\{(x,o,o) : x \in |R]$ is T-invariant
 $z-axis$ $\{(o,o,x) : x \in |R]$ is NOT T-invariant
 $T((o,o,x)) = (o, x, o) \notin z-axis$

-

Def: Given a linear operator T on a vector space V,
and a non-zero
$$\vec{x} \in V$$
, the subspace
 $W := span(\{T^{k}(\vec{x}) = k \in IN\}) \stackrel{def}{=} span(\{\vec{x}, T(\vec{x}), T^{2}(\vec{x}), ..., T^{k}(\vec{x}), ...$

-